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#pragma omp target teams map (alloc: a, b, c, d, u, indxp, jndxp, rho_i, qs) \ 
num_teams((npl+127)/128)

#pragma acc parallel num_gangs(n3-2) num_workers(8) vector_length(128) #pragma omp target 
map(tofrom: ou[0:n3*n2*n1]) map(tofrom: ov[0:n3*n2*n1]) map(tofrom: or[0:n3*n2*n1]) 
is_device_ptr(u1, u2)
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class Domain {

public:

void Domain(class Domain *,Int_t,Index_t,Index_t,Index_t,Index_t,Int_t,Int_t,Int_t,Int_t);

void ~Domain(class Domain *, int);

...

real_t *               commDataSend;     /* 0 8 */

    ...

/* --- cacheline 7 boundary (448 bytes) was 8 bytes ago --- */

class vector<double, std::allocator<double> > m_y; /*   456 24 */

class vector<double, std::allocator<double> > m_z; /*   480 24 */

...
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Int_t                  m_cycle;          /*  1592 4 */

/* XXX 4 bytes hole, try to pack */

/* --- cacheline 25 boundary (1600 bytes) --- */

Real_t                 m_dtfixed;        /*  1600 8 */

Index_t                m_planeMax;       /*  1740 4 */

...

/* size: 1744, cachelines: 28, members: 104 */

/* sum members: 1740, holes: 1, sum holes: 4 */

/* last cacheline: 16 bytes */

};
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  hxx[i] = hourgam[0][i] * zd[0] + hourgam[1][i] * zd[1] +

           hourgam[2][i] * zd[2] + hourgam[3][i] * zd[3] +

           hourgam[4][i] * zd[4] + hourgam[5][i] * zd[5] +

           hourgam[6][i] * zd[6] + hourgam[7][i] * zd[7];
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http://dwarfstd.org/
https://github.com/acmel/dwarves
http://www.valgrind.org/

